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BBAL 2204 4

5.

(a)

(b)

(c)

(a)

(b)

(c)

Define Capital Structure. Explain the forms and
its determinants.

What is Capitalization? Explain its various
types.

Differentiate operating laverage and financial

leverage.

Blue Berry Limited estimates its carrying cost
at 12% and its ordering cost at ¥ 12 per order.
The estimated annual requirement is 40,000
units at a price of T 5 per unit. What is the most
economical number of units to order and how

often will an order need to be placed?

Lixplain Cash Management. What are its various
objectives?

Define Economic Order Quantity.
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Note :— Attempt all questions.
SECTION-A

1. Attempt all parts of the following : &x1=8
(a) Define over capitalization.
(b) Capital rationing.
(c) Netpresent value.
(d) Surplus cash.
{e) Riskevaluation.
() Dividend policy.
[P.TO.




